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Parallel and Perpendicular Lines Review

1. Solve for x in each picture. Then plug back in to find each angle measure.
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2. Tell whether each statement is true or false. Then write the converse of the following statements, and
state whether the converse is true or false. ‘

a. Ifanangle has a measure less than 90 degrees, then it is acute. =3 Tywe

ConvRrses Tp an angle is acute, Hen it has a measure [ess Hhay 90 Je, regs = Also trve
b. Ifa figure has four right angles, then it is a square. -) F;. lsc (mH be a m,v [,)

Convivye s T o fyure is a Sqpare sHhen it hos ur right- angles. (Tyug)

3. What is the difference between the corresponding angles theorem and the converse of the
corresponding angles theorem? Explain in your own words.

Corr. Amyles Theorem: Tf A lines ave. pavaflel, then corvespeding a les ave. com et (If #f’hﬁﬁé:)
Gover: T omspeliny agls e cxpune;thn te ik ove paclbl (¢ el -ﬁ;)

4. Use the given information to show that c || d.
State which converse you used.
Given: mZ1=2x°, m£3=(3x-31)°x=31

mL]=2:31=62° )
m3=3-31-31= 9% ”"’_‘_Z_

9mce ﬂll‘ﬂ‘-s, C”O‘ bemse & e Cm"!s,oml;nj qrg[ﬂ' convorse,

5. Use the given informétipn to show that j || k.
State which converse you used ;
Given: mZ3 =12x°, mzZ5=18x°%x=6"
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9. For each slope given, identify what slope the parallel and perpendicular-line would have.
slope. ' parallel perpendicular
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Are the following lines parallel perpendicular or neither? How do you know?

10, y=2x+10, y=-2x + 1 ; 2 11-yé5..x;2,_ :
Jeitha (w;;x gm")' T Repetlinde
. (Y251 hovizaniul, x=2 is wrtical)
S T TR E S 13.y=10x, y=4+10x
Revpondicalar (cprosih rtzupmmD o Pm”el .
Skpes (Same:lom)

Write the equation of a line that is parallel AND a line that is perpendicular to a glven lme through
the given point. : :

14, y=2x+9, (-1,4) 15. =—éx—-5, (8,2’]'
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